3rd order Butterworth, 10KHz, notch at 65536Hz
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TF = ([Vout+] - [Vout-]) / ([Vin+] - [Vin-]) = - [Vout+] / [Vin-]
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Multiple Feedl:;ack 2nd Order LPF
G=-1 G=1
T ™ pole: zero:
e el G2 g ez s 3 2R e s D f0=10.17kHz f0=66.314kHz
WB~2 = 1(Cl C2 R2> Q=1.023 Q=Infinity
Q = sqrt(C1,C2>,3
pole: (single x3)
f=7.8kHz
f=50kHz
f=373kHz
Total Performance of the whole circuit
zero
G=+1 7.8k 10.2k 66.3k
- =~{@=1) (@=Infinity) c.f.
|deal 3rd order butter worth
50k => _
373k f0=1 & f0=1 (single)
Q=1
f—3
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11 unknown params:
V2,V3,V4,Vout, i1,i2,i3,i4,i5,i6,i7

V1-V2 = i1Zg
xi i - :§ §C3N Zero:
" - 2+ f=1/(2 pi R c) = 66.314kHz
Viovs = uz Solve  (R=100Q, c=24nF)
- = 1% £cq >
V3 = i5Zgey Pole:
V3 -V4 = i6Z .
i4 - i5+is three single poles
7 . e f=7.8kHz, f=50kHz, f=373kHz
V4-Vout = 7 Zgg
Vout = 7 Zg
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